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An oil drop of radius 2 mm with a densit}-' 3 g cm 3 is held stationary under a constant
electric field 3.55 ¥ 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?
Consider g=9.81 m/s”
Options :
7 10
86435115931, 179 10

i 10
86435115932, 17310

= 12
86435115933, 172 %10

11
86435115934, 20-8x10

Question Number : 1 Question Id : 8643515311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fferee 28 T 79 3 g cm 2 €E9 2 mm AL (TF GIETE @BIF FASF (APOF (WG
3.55 x 105 V m~ 1 '@ fowaers 991 (o081 (59 (Oreehe 4T i Srage wedn & 5w 7

g =9.81 m/s? Cea
Options :

rd 10
86435115931, 17-3 %10

rr 10
86435115932, 17310

o 12
86435115933, 172 %10

11
86435115934, 8-8x10

Question Number : 2 Question Id : 8643515312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved b}’ the box in ime ‘t’ is proporﬁmial to -

Options :

86435115935, /2
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(1/2
86435115936.

{2/3
86435115937.

86435115938. !

Question Number : 2 Question Id : 8643515312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATE TSR (@4 S, AR Ba SEETe o @b A5F, s wel [ 9 T «biE B =g

‘v RIS PHE1CE S 1 a7 FTAANSF 27 -
Options :
86435115935, /2

(1/2
86435115936.

¥

g
86435115937.

t
86435115938.

Question Number : 3 Question Id : 8643515313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A m
> T0000° QI

D

Options :
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86435115939, 1 T

86435115940. 24

86435115941, 0 T

"
86435115942. e

Question Number : 3 Question Id : 8643515313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bae (TYSar 4are BIRGT M2eTY ATF2 79a § (@20 A, B, C 9% D F #4499 (3108 RN F41 (20E|
Iz A T @He GiFF (Fa 3 T2, C T (F09 (Fd 29 (4R & @ BT ¢Fd TISH HA-299
e [SEae e (3 WCE) |

Options :

86435115939, 1 T

86435115940. oh

86435115941. S

"
86435115942. e

Question Number : 4 Question Id : 8643515314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-‘CHC process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m2f-—------ <
B
100 N/m2} - __ o i Np
B! B
| | |
| | |
P | o
| | |
| | |
| L
| | |
| | |
| | |
| | |
| .
| | |
1 3 4
— 3y V(md)
Options :
86435115943. 0]
86435115944, 500]

86435115945, 200 ]

0]
86435115946.

Question Number : 4 Question Id : 8643515314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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S&T HNAS 5 U BT B Hrameas sl corea e P-V e a Tae (ryear tars | @b wErEE
Hef&l CD 9 Toee 7o#fifre R 24 (y=1.4 T4 1) :

A D
200N/m2f-------- <
)
100 N/m2 |- - - o N
B! Lo
| | |
| | 1
B | o
| | |
| | |
| L
| | |
| | |
| | |
| | |
| L
| | |
1 3 4
Oy V()
Options :
86435115943. 400 ]
86435115944, 500 ]

86435115945, 200 ]

0]
86435115946.

Question Number : 5 Question Id : 8643515315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented by :

Options :
86435115947.
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Question Number : 5 Question Id : 8643515315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FIF T S I A 7 I GG, T A T A A1

Options :
86435115947.
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Question Number : 6 Question Id : 8643515316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :

Options :

8/90



3/18/2021

86435115951, = ™S

86435115952, = ™S

86435115953, 0-2°0 ms

86435115954, 22 S

Question Number : 6 Question Id : 8643515316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aG1 @1 (TS 220 V, 50 Hz T @51 #[A3S 2q12 T Fe@nl 341 281 09 AW Ao #[1 9%

M TeLet Fottel 2 qLel HACZ CoET T
Options :

86435115951, = ™S

86435115952, = ™S

86435115953, 0-2° ms

86435115954, 2 S

Question Number : 7 Question Id : 8643515317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placr_-d al a distance of 0.5 m from them. The distance between the first and the third hright

fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais:
Options :
12

86435115955, 1178 10~ *“m

86435115956, 2890 X107  m

-- L
86435115957, 1178107 " m

9/90
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1178 x10~ ¢ m
86435115958.

Question Number : 7 Question Id : 8643515317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

seq fa-ow TagTe, W W57 0.5 mm TIGFS AT (208 WF MR 5559 «4 0.5 lllmWEQCEI
Qe fewqn 5890 A T @I (NZCATT TEHAZ (T TW, S0 (TET HUS F PO vega #ifba qEd
99 2 :

Options :

i 12
86435115955, 1178 X107 “m

86435115956, 2890 x10" " m

- 2 L
86435115957, 1178107 " m

1178 10~ % m
86435115958.

Question Number : 8 Question Id : 8643515318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435115959 O times the mass of e

1
— times the mass of e
86435115960, 16

86435115961 16 imes the mass of e

§ Hmes the mass of e
86435115962.

Question Number : 8 Question Id : 8643515318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

10/90
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Correct Marks : 4 Wrong Marks : 1

OB F1Z 5T 20 TOLA 4 B 4T SIS FHEATZ | FMCHH W- 9 T2 4TI, T3 79 W-F79 A0
TS TS 2 : 1 I 4fE, I 9 = ;
Options :

e~ F 5949 8 a9
86435115959.

1
e~ TS99 — &9
86435115960. 16

86435115961, © 1 o 16 &

1
e” 959 - a9
86435115962. 8

Question Number : 9 Question Id : 8643515319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = 2;,—\]1. The measured value of the
5

Ir_-ngﬂ'n of pendulum is 10 em known toa 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy

in the determination of ‘g’ using this pendulum is “x’. The value of “x" to the nearest integer

is,

Options :

2%
86435115963.

3 %
86435115964.

4%
86435115965.

5%
86435115966.

Question Number : 9 Question Id : 8643515319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A5 I SRTFA T = 27 |L | 1 mm SHSTA e A (ARG G T 10 cm | 1s
&

frow @bl ¥O! IR FE GEIEHE 200 TERE AT T CATE €202 100 seconds | €% (HFRCH!

A7 I g oS oFq wESTis ‘' |y T I v et ;

Options :

2%
86435115963.

3 %
86435115964.

4%
86435115965.

5%
86435115966.

Question Number : 10 Question Id : 8643515320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435115967 100 eV

86435115968, 2/-2 €V

86435115969, So1-2 eV

86435115970, 25122 eV

Question Number : 10 Question Id : 8643515320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FE A @ G5 TG (G AT TAGADE G5 S (p, muon) 1@ [EHS AT (2T B
FMT TT G5 TCAZE 207 S AF THW @57 A AT NAEE AT | @F T2G (G ATABE
WA @4 (ionization potential) 2’9 :

12/90
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Options :

86435115967.

86435115968.

)
86435115969, 2212 eV

> o F
86435115970, 201°-2 €V

Question Number : 11 Question Id : 8643515321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disf_t'ltc-grates via two ﬁ1depex1::lc-11t dc-ca}-' processes havf_ng half lives

™ 2 _ _ - g
12 and 12 respectively. The effective half-life, Tlé of the nuclei is -
Options :
1) 18
Ty, = _ AR .
2 10 +1®
86435115971. 2 /2
1y = 1Y 412
86435115972. /2 £
1 g
A g
L/ 1/
86435115973. 2 /2
86435115974, Mone of the above

Question Number : 11 Question Id : 8643515321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0 @) ' i i e
e WTL;WTLEW@?@W\& BT (TET T Rebe T MeEueee e

(effective) H@le o
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Options :

1) 1

Hje== /2 /2

86435115971. s T
Ty, = Ti 1} | Ti_‘?‘_}

86435115972, - 22
B R

T — "'-2 :"2
4= 1O

) 1/ 1/

86435115973. /2 /2

86435115974, S @518 T2

Question Number : 12 Question Id : 8643515322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.
Options :
86435115975, shape of the loop remains unchanged

86435115976. loop assumes circular shape with its plane normal to the field

26435115977, loop assumes circular shape with its plane parallel to the field

86435115978 wire gets stretched to become straight

Question Number : 12 Question Id : 8643515322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O AT BfFE Fae, ShEhe NFET J99E S99 4dqE FHSA ¢ FH T (3(E|  SEaueEe
CETYTE USE TS F40|

Options :

86435115975. 2 DR TFE Ao US|

14/90
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86435115976, CHREYTA FFOLA TR T AT FHLHTA JSFA AP 77 |

86435115977, CHREI FAATAGTSIA ZA O LT FAGIE T A4 7 |

86435115978, Do CATE 5'q0A O 2T

Question Number : 13 Question Id : 8643515323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor

is 2.00 A. The maximum permissihle percentage error in the resistivity of the conductor is :

Options :

86435115979, -9

86435115980.

86435115981. 8.4

86435115982. 3.0

Question Number : 13 Question Id : 8643515323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST T A, 10.0 cm T IF 5.00 mm APA &F 2T TET 4% 5.0 V T Fearew =@

F4q1 (2| A2 HAE T T F41 (208 2.00 A | ARERE (AT AW SIS oF4 Fo
27

Options :

86435115979, -9

86435115980.

86435115981.

15/90
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86435115982. 3.0

Question Number : 14 Question Id : 8643515324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :

Options :

86435115983. 3T

86435115984.

86435115985, 2/ 1

12T
86435115986.

Question Number : 14 Question Id : 8643515324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R AFPHE IS FHRT AP 51 THEZT AREFE T | IR A0THT TS A4 S BT T

I 2
Options :

86435115983. 3T

9T
86435115984.

86435115985.

86435115986.

Question Number : 15 Question Id : 8643515325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

16/90
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In a series LCR resonance circuit, if we change the resistance only, from a lower to higher

value :
Options :

86435115987, T'he resonance frequency will increase

26435115988 The bandwidth of resonance circuit will increase

86435115989, Lhe quality factor will increase

The quality factor and the resonance frequency will remain constant
86435115990. ’ 2

Question Number : 15 Question Id : 8643515325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@51 8% LCR St Teate, qW i feq #[@1 &% TWta, (9 @ Aad 34l ;
Options :

86435115087, I T AL A[ |
86435115988, I IS +ffeay MG TR
86435115089, BT T 1M T

86435115990, 217 T SRE ST FF FATF (2 A |

Question Number : 16 Question Id : 8643515326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435115991 Myopia and hypermetropia

86435115992, L resbyopia with Astigmatism

17/90
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86435115993, *‘stigmatism

86435115994, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(SN TFT 7R T (2R ©EF 1€ 4 T REFT e 99 @Rata s o 3 9
TS A W S FS 41 Wi | Ored Wes! ety Fiaee

Options :

-] - : e .
86435115991 TP/ TR TR S 2R Ay R/ T 8 T |

8643511599, SEDCABET (Astigmatism) T (S CHRARIPT

86435115993, TEBAIAGET |

86435115994, ‘TRBeTCATbE LTS TRy foFam)

Question Number : 17 Question Id : 8643515327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in
thermal equilibrium at a temperature T ? (k; is Boltzmann constant)

Options :

kT
86435115995.

86435115996.

86435115997.

2
86435115998.

18/90
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Question Number : 17 Question Id : 8643515327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T ST SAT AMEES UFT GF W (TEE qE @51 Fog A e s ae 99 F 779 2

(THEAT 7T k)
Options :

kT
86435115995,

86435115996.

86435115997.

2
86435115998. -

Question Number : 18 Question Id : 8643515328 Question Type : MCQ Option Shuffling

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11

List - 1
(a) 10 km height over earth’s surface
(b) 70 km height over earth’s surface
(c) 180 km height over earth’s surface
(d) 270 km height over earth’s surface

Options :

86435115999, @), (D)-(iii), (c)-(ii), (d)-(i)

86435116000, 2D, (b)), (©)(1), (d)-(v)

26435116001 @), (b)-(1), (c)-(iv), (d)-(iii)

26435116002, @)r(1), (b)-(iv), (c)-(iii), (d)-(ii)

(1)

(i1)
(i)
(iv)

List - 11
Thermosphere
Mesosphere
Stratosphere

Tmpospherr_-

: Yes Is

19/90
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Question Number : 18 Question Id : 8643515328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
iferst - 1 3 tivs iferst - 11 figeman :

iferat - 1 wiferat - 11
(a) #f2E %9 s#/q@ 10 km THolA (i) omFEEE
(b) #fe@E *Bq @*@@ 70 km TH@LH (i) TE PRI
(c) #fe@ *Ba $*[e 180 km THILA (i) TBE FECEa
(d) 2@t *@a $*[e 270 km THSLA (iv) B mEEE

Options :
86435115999, @), (b)-(iii), (c)-(i), (d)-(i)

26435116000, @), (B)-(i), (0)-(i), (d)-(iv)

26435116001 @ (1), (b)-(1), (€)-(iv), (d)-(iii)

26435116002, @F(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 19 Question Id : 8643515329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electmmagnetic wave of frequency 100 MI—IZ is traveﬂmg_ in vacuum a_long the

— . M
x-direction. At a particular point in space and time, B = 2.0 x 10 % ET (where, k is unit

vector along z-direction) What is E at this point ?
(speed of light c=3x10% m/s)
Options :
06 j V/m
86435116003.

86435116004, -0 1 V/m

60 k V/m
86435116005

20/90
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86435116006, 0 K V/m

Question Number : 19 Question Id : 8643515329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
*HERS x- 7@ 100 MHz F#15F9 O3 TTea [age PEar ©q243 9Ife 94 Sz g S Tq

9F R s, B = 20%x 1078 k TI @T k, 2 79 @35 539) | 2% E 292
(comzaq Sife@sl =3 x 108 m/s)
Options :

06 i V/m
86435116003.

86435116004, -0 1 V/m

60 k V/m
86435116005.

86435116006, 0 K V/m

Question Number : 20 Question Id : 8643515330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The

angular spc-ed of the ring, will become :

Options :
M
. M+ m
86435116007.
%l
iy ————
M+ Zm
86435116008.
M —2m
L
M 4+ 2m
86435116009.

21/90
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M 4+ 2m
[\l

(1h

86435116010.

Question Number : 20 Question Id : 8643515330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T M S1® r AT 51 #Te qaIFE WP o THEE TOra TAM P AT Gofel 1q S1C= | 2RS0T

m =99 751 IS S e fAeEs e 73 fmn 271 smgfiese Gt @o 2'ats ;

Options :

\% |
Wy ——
86435116007, T M
Y
W —————
M+ Zm
86435116008.
” M — Z2m
86435116009, 1 T M
M + 2m
oy ————
86435116010 o
Physics Section B
Section Id : 864351356
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351356
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643515331 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

22/90
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An npn transistor operates as a common emitter amplif ier with a power gain of 105 The
input circuit resistance is 100 £ and the output load resistance is 10 kf). The common emitter

current gain ‘" will be . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643515331 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F1 @5/ #f@@4F F# G5 npn TFEETE 100 T AR T (TC TR (2 (Y| T6419 2075 (@14
100 () =¥ STEGHG G @14 10 k() | Tl G5 2772 €4 ‘B’ 29 _ | (FFoeT =Y
ALANCA TAHFA F+41)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515332 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/90
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A ball of mass 10 kg moving with a velocity .1{]\.@ m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30” with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y- axis t piece 1

11=10m/s
\KF X - axis
vz

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515332 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x4 e 10/3 m/s TN 51fE IR 47 10 kg S 5T 9071, 7 SRETS 241 20 kg A9 T <51
AT TS FECE| A g ¥ IH00 FOEElA WicE, 1T @ %O IHACH BT A FFATS
faaibe =1 WpFaE y-=rwe e 10 m/ s Thorq 5ifS Ffats e 30| GO BFansea x-S gl
30° TS SIS FEAQLA THE FA| x-STHA 0108 30° TS 41 F941 T (F91 x m/s | To9 Baw
A2Teq RS [FATFLoE [T (7 ed (atr | abed HfeAntE x I A |

Y-S*E 1 Piece 1
vy=10m/s

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643515333 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltagr_- across the 10 (1 resistor in the given circuit is x wvoll.

50 ()
—VVW\ Wy ?
— 20 0

g
1oV .

The value of ‘x’ to the nearest integeris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515333 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fra TSATHTS 10 ) TARBCEE FIE [ x volt |

50 )
EAVAVAVAY AN #
10Q 200

L AAMA—

I I 170V & ¢

ferRGeT efeumter’ q T _

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643515334 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
F 5 C
B
10 m 5
I
aul E'.Blﬂe
Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of ‘x’ to the nearest integeris .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643515334 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

26/90



3/18/2021

)

10 m
5m

Y

fbae myear q@rd, A TS 10 kg S99 @51 F1 797 (2RI AR FMHT T GTAICE ATTRCH
mw%,aﬁﬁﬁﬁﬁmWWB%ﬁWﬂl B @ FTHE @5 x m/ s!

(g=10 m/ s> 7=
fersben sefse=mta ‘X' T AW

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515335 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by

the particle to cover a displacement equal to half of its amplitude from the mean position is
b

— 8.
d

The value of “a" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515335 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 second q *RAFEE (TS G5 F1Z 747 7AFE 5@ 7T+ F(A | T4 SEEE *[1 204 Ffagaq
2 1

mwﬁwﬁﬁtﬂﬁmmmgm

ferRGeR “efemta ‘a’ T T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515336 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3 uF 5 MO
| | AAAMAAN
|

q=30 uC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 pF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M resistor is ‘x" pA.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515336 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3 pF 5 M

| —AW—

7y

foa® orqsar AT 3 WF 41993 W 30 pC UGS 51 YACHd e t =0 FIae, @fem 51T 3%
AqTF, 5 M) T@FEE A& 218 2[AET 9y pA |

fermbon =efmeamtar ‘¥ 7 W 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515337 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.

The value of ‘x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515337 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

OTT TE 10 m/ s Bferd Ged TI0S 120° TS FEE0E SE “0d S A9 AeBas [e[re
A @51 oy ANBTRLS| OTeq B ‘x’ m/s | feebed o Fexmtat ‘v q T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643515338 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are

subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratioof a : b. Then E can be expressed as — where x is _
¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515338 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

rafen F2es 2 N 9 Tl 20, YoIA %9 ©F A S1F B T 2 mm ¥ 4 mm 44 57 21 417 caman
TRATER 9 a2 #mdd 519e W B Tqued e A TquEd APET Bead| A WF B O9uE

T S g a:b | 5 3 % FCH AT FET N TE x
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643515339 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallc-l plate capacitor has pIate area 100 m? and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is “x" pF.
The value of £5=8.85x10"12 F.m ™!
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515339 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QBT FAIGIAE ATE G99 #Teq FIfe1 100 m> SF #ASq T4+ 10 m| ATSHAE TET 513 5 m TP 777
AT OIF FaF 10 T AMLT ©arE =8| o« 99 ‘o pF |
£gd T =8.85x10"12 F.m~!

fereBes ol JeAmts ‘v T W [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding

force on the bullet is ‘" N.
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643515340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kg T3 €51 IEGF <57 FIA AFS T (ST FAACA FAT T (202, T8 T 50 cm T@E @A LS
T aE| Az Fe YRR WS LA @51 10 m/s T WIF 3 AN FACNA 99 =, (0%
FCAGLLTT FEAF a4 (effective retarding force) ZH “x" NI

oo #ff FeANLA ‘o’ T AT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351357
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351357
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hcp structure. The formula of the binary compound
is :

Options :

M,A,
86435116021, 2 -
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86435116022, M43

86435116023, MA3

86435116024, MaA

Question Number : 31 Question Id : 8643515341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@b BTHIRS (@S, A A T ST G5 hep 10 F0E S G M @ hep 51574 2/3 bedFaiad &
SHFE FE | GCHAISSE (o HFS TH :

Options :

86435116021, 23

86435116022. :

86435116023, MA3

86435116024, MaA

Question Number : 32 Question Id : 8643515342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

I~
wn

86435116025.
2p
86435116026.

86435116027.

3p
86435116028.

Question Number : 32 Question Id : 8643515342 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

b TREGAa (FfE 7T A% WF §5I AP 7T WR| SACHACH :
Options :

86435116025, 25

2p
86435116026.

86435116027, 05

86435116028, P

Question Number : 33 Question Id : 8643515343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (iii) Particles ‘N
(d) Hydrogenation of vegetable oils (iv) V,0s

Choose the most appropriate answer from the options given below :
Options :
86435116029. (@)-(1), (b)-(iii), (c)-(it), (d)-(iv)

86435116030, @r(), (P)-(iD), (c)-(1), (d)-(iii)
26435116031, @)r (i), (b)=(i), (c)~(iv), (d)-(ii)

86435116032, @), (B)-(9), (c)}-(), (d)-(ii)

Question Number : 33 Question Id : 8643515343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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SifeTt - 1 T Sifera - 11 7 T0e e &4 ¢

SifeT - 1 SifeTa - 11
(°r&fe) e
(a) TOFTE S @) ZSM-5
(b) ICTF S (i CuCl
() TRGIRA (i) “Ni 3T

(d) FFIfE (FT TTgCE FI (iv) V,O;
el e[ AT eF e Taq A1 Seed
Options :
86435116029 @)-(1), (b)-(iii), (c)~(ii), (d)-(iv)

86435116030, (@F(I), (b)-(i), (©)-(i), (d)-(iii)
26435116031, @) (i), (b)=(i), (c)~(iv), (d)-(ii)

86435116032, @@, (B)-(¥), (c}), (d)-(ii)

Question Number : 34 Question Id : 8643515344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mgz Fand AP T, respectively,
are :
Options :
86435116033, 0-85 and 0.99

86435116034, 072 and 0.54

86435116035, 0-68 and 0.72

86435116036, 1-U° and 0.99

Question Number : 34 Question Id : 8643515344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Na * e oTa @ 1.02 A | Mg2* s AP+ 7 simag aeg (A ©) Juie
Options :

86435116033, 0-85 =< 0.99

86435116034, 0-/2 =¥ 0.54

86435116035, 0-68 ¥ 0.72

86435116036. it i

Question Number : 35 Question Id : 8643515345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435116037, bauxite

86435116038, [aolite

86435116039, —alamine

86435116040, —rYOlite

Question Number : 35 Question Id : 8643515345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QFARTE FRETe & EGE w39 FREE @ F9 TS w6 30

Options :

86435116037, E

TS SAEL

86435116038.
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86435116039.

86435116040.

Question Number : 36 Question Id : 8643515346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCOs;.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :
86435116041, Poth A and R are true and R is the correct explanation of A

86435116042, Both A and R are true but R is NOT the correct explanation of A
86435116043, A is true but R is false

6435116044, A 15 false but R is true

Question Number : 36 Question Id : 8643515346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS o O W A | @B ferEtE A W s #rEe R T e w4 (e
frroeafe A oA S 4P I AAF SHE FAE TECEETE, Mg(HCO,),, MgCO, i

offqafde =)
FEIR : Mg(OH), T F@er 341F MgCO, %F @&l
G+ TiET TETe, FEEIT TEEEeA ShRelE SPRE BEars! Ay e

Options :

26435116041, A T R TG 7eT 7 R 2’5 A T 6% A0
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IF R FAGE W97 A e
86435116042, > T R 7o R R, A T W5 a0 54 |

86435116043, A 79 &% R =797

86435116044, A 19 FRR T

Question Number : 37 Question Id : 8643515347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List- 11
(a) Ca(OCl), (i) Antacid
" "
(b)y CasSO, - 5 H,0 (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :
86435116045, @), (0)-(iv), (c)-(ii), (d)-(ii)

26435116046, (@) (1ii), (b)-(ii), (c)-(1), (d)-(iv)
26435116047, (@)-(iii), (b)-(ii), (c)-(iv), (d)~(i)

86435116048, (@)(iii), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 37 Question Id : 8643515347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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GifeTa - | F ©iferat - 11 7 S &= &4 :

wiferst - 1 wiferat - 11
(a) Ca(OCl), (i) «fee aforad e
(0 Caso,- HO @) forwd
() Calo (i) faaga
5 TERE, (iv) #Bd v o

forafeie fAasae[ ShRee $oIe TEqhl e Sfersd
Options :
26435116045, (@) 1), (0)-(iv), (c)-(iii), (d)-(ii)

86435116046, (@)(diD), (B)-(ii), (€)-(1), (d)-(iv)
86435116047, @ (i), (B)-(ii), (€)-(iv), (d)-(i)

86435116048, (@) (L), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 38 Question Id : 8643515348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :

Options :

86435116049, 1

86435116050, 2

86435116051. 0

86435116052,

Question Number : 38 Question Id : 8643515348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TEFAE GRFAET TF TEFAF BT Tue [iEe Teem 12 wenae T 49 wRaiead e
TIOGIET HeAT

Options :

86435116049, 1

86435116050, 2

86435116051. 0

86435116052,

Question Number : 39 Question Id : 8643515349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List- 1 List - 11
(a) Chlorophyll (i)  Ruthenium
(b) Vitamin - B, (i) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435116053. (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

26435116054, @)r (1), (b)(iii), (c)-(ii), (d)-(i)
26435116055, (@) (), (b)-(i1), (c)-(iii), (d)-(i)

86435116056. (@)-(iv), (b)-(ii), (c)-(i), (d)-(ii)

Question Number : 39 Question Id : 8643515349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Sifers - | F Sifer=t - 11 T 70 e 31 :

iferat - 1 wiferat - 11
(a) ®TRE (i) Ul
(b) fBfM-B,, (i) TABT
(c) FHoasTaE dm (iif) F a5
(d) o@q SRS (iv) TReT=TEATT
e fAegee@n whRets T ye Ted iy Tre

Options :
26435116053, @) (HL), (b)-(ii), (c)-(iv), (d)-(1)

s6435116054. (@), (B)-(ii), (©)-(i), (d)-(i)
s6435116055. @), (O)-(id), (©)-(ii), (d)-()

86435116056. (@)(iv), (b)-(ii), (c)-(i), (d)-(ii)

Question Number : 40 Question Id : 8643515350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,), ] and meridonial-[Co(NH,),(NO,),], respectively,

are
Options :
NO
Ph3|’\ /Br O;N | > NH,
Ni and \CU/
ph3p/ \Br 02[\.'/ |,H\NH3
86435116057. 3

Ph‘}P Br HaN NGE
\.\n/ d \(L o
an
e \PI}hg OZN/ | N\ i

86435116058.
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H;N TDE NO,

IJhErP\ /BI'
/ \PFh s 3N/ | \N'i?'z

86435116059. NH,

P]:.'IEP \ / Br
Ni

86435116060.

Question Number : 40 Question Id : 8643515350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CG#-[NiBr,(PPh,),] ®1® F410aR-[Co(NH,);(NO,);] T @ 516 IS 24

Options :
NO
Ph3P\ /Br D;N\ | }NH
Ni HFE Co
ph3p/ \Br DZN/ PLP;\M“?'
86435116057. 3
PhSP\ /Br H,N TDE NO,
/ \PPh?, 0, ‘\]/ | \NH1
86435116058. NH;
NO, NO,

Phg,F\ /Br \l/
/ \Pph " H3N /l\‘\mz

86435116059.
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thp\ /BI' O N T
C
Phy P/ \Br o OsN |

oN

N
\

86435116060.

Question Number : 41 Question Id : 8643515351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog,
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog.

Choose the most appropriate answer from the options given below :

Options :
86435116061, (A) and (B) only

86435116062, (A) (B), (C) only

86435116063, (B) (©), (D) only

86435116064. (A) (B). (D) only

Question Number : 41 Question Id : 8643515351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
We) SGEE A

(A) T coreem O 3 SF S ATHEE Y@e, GGS a2 e
(B) T *PT [T #@1 Teem =

(C) Fram CO, T =fe=na coerer o+l 3 F41 C51e

(D) fires faefae g@& s @b =es

weTe Tl RFEaea Shizels TS Teq A1 e

Options :
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- ] T
86435116061. (A) (®)

]
8435116062, (D (B (©)

26435116063, (B) (Q), (D) 314

86435116064, (A (B), (D) T4

Question Number : 42 Question Id : 8643515352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;H,O can show :
Options :
86435116065. Positional isomerism

86435116066, Functional group isomerism

86435116067. Metamerism

86435116068. Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643515352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
w1efa® @ C,H,O 3 (9% (ryam #Mmed

Options :

86435116065. - s

86435116066

86435116067. '

86435116068.
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Question Number : 43 Question Id : 8643515353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (i) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for pB-elimination reaction
(d) Polyacetylene (iv) Lindlar's Catalyst

Choose the most appropriate match :
Options :
86435116069, @ (1) (B)-(1), (c)(iv), (d)-(iii)

26435116070, @)L}, (b)-(i), (c)-(iv), (d)-(ii)
86435116071, @)r(1), (b)-(iv), (c)-(1), (d)-(ii1)

26435116072, @)-(ii1), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 43 Question Id : 8643515353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wiferat - 1 F Siferat - 117 t7Ce e o1

wiferet - 1 wifersst - 11
(T %) (FrEzra/ 25fs /G o)
(a) «oTe's o G T3gwHEe (i) TAET TG
(b) Pd/BaSO, (i) TS A
(c) BHC (@3 @H&Fq2T) (iii) p-SreETEe [

(d) AFRafRpRET (iv) fAesaa s
HHEEF S Feor A1 Tere

Options :
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26435116069, (@), (D)-(1), (c)~(iv), (d)-(ii)
86435116070, @)-(1i1), (D)-(1), (c)-(iv), (d)-(ii)
86435116071, @-(i), (b)-(iv), (©)-(), (d)-(iii)

26435116072, @)-(ii1), (b)=(iv), (c)-(ii), (d)-(i)

Question Number : 44 Question Id : 8643515354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, C,;H-MgBr with C;H O followed by hydrolysis gives compound
“A” which reacts instantly with Lucas reagent to give compound B, C,,H;;CL

The Compound B is :
Options :

Cl
CHj,
86435116073.
CH;
1
86435116074.
Cl CH,4
CH;
86435116075.
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CHj

CHj

S

86435116076.

Question Number : 44 Question Id : 8643515354 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

farseme s, C,H ,MgBr ¥ CH O T #5re fafean 34, & fuasem «be e (el “ A7, Ried =t

o [APaed Fers e 34 Tesm Fa (@1 B, C, H,,ClI (AT B 2o :

Options :
Cl

CH,
86435116073.

"Hj

%

86435116074.

Cl CH;

CH,4

pe

86435116075.
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CH,
Cl

CHj

86435116076.

Question Number : 45 Question Id : 8643515355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O H,O
i ] o ‘Iﬁ‘. s ]
H H*4
(Major Product)
Consider the above chemical reaction and identify product “A" :
Options :
CH,NH,

86435116077.

§
C=N-0OH

86435116078.

86435116079

: ~CH,NO,

Question Number : 45 Question Id : 8643515355 Question Type : MCQ Option Shuffling : Yes Is

86435116080
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

COOH
_ 0 H,0
i e ’
II+ A HT,A
(2T TreEar)
asqq qrifes fafaas wfe fafaaere s “A” e 7
Options :
CH,NH,
86435116077.
: ~CONH,
86435116078.
: ,L N—OH
86435116079.
: ~CH,NO,
86435116080.

Question Number : 46 Question Id : 8643515356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H;

Alkaline K]vInD4 B

Considering the above chemical reaction, identify the product “X" :

T+
OCH;,4
Options :
CH,OH
x i
86435116081, OCH,3
COOH
X -
86435116082. OCH;
CHO
_}{ 2
86435116083. ety
CH,
X =
OH
86435116084

Question Number : 46 Question Id : 8643515356 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H,
FEeT KMnO,
}i I } Jn’x.l’.l'

OCH;,
@+9q fafam sete orewar “ X" oare F :
Options :
CH,OH
x s
86435116081. OCH,
COOH
¥ .
86435116082. OCH,
CHO
_}( 2
86435116083. Qs
CH,
X -
OH

86435116084.
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Question Number : 47 Question Id : 8643515357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HLC CH
3 \\N P4 3
Hy

NaNO,, HCI

» Py KH_ ;-__ L Y."l‘
273 K-278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
. ~CH
and O/ I\ i
CHj,
86435116085.
and O/ N
[::fi:} " N\CH,
86435116086. CH,
N3 Cl™ f§113
d &
an O/ CH,
86435116087.
Cl ,5113
and O/ \CH
3
86435116088.

Question Number : 47 Question Id : 8643515357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

H-C CH
3 \\Ffff 3
H,
MNaNQ,, HCI .
i 2 }__ i X” }_-. #Y'
273K -278K (s wrwma) (2T TTegr)

%79 [T Sepie, X 9% Y TS0 2 ¢

Options :
e N N/Q
HF U Tr,f CH,
86435116085. CHy
T g \1@
CT
ij ik “ScHy
86435116086. CHj
N5 Cl™ /CHa
CH;
86435116087.
i CH,4

g
o Y
CHa,
86435116088.

Question Number : 48 Question Id : 8643515358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - I :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid i) Nowvestrol

(i

(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iil) Valium
(d) Tranquilizers (iv) Alitame
Choose the most appropriate match :

Options :

seans160go. @), (B)-(), (©)-Gii), (d)-()

86435116090, @ (i), (b)-(iv), (c)-(i), (d)-(iii)
26435116091 @)r(1¥), (b)=(i), (c)-(ii), (d)-(iii)

86435116092, (@)»(1¥), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 48 Question Id : 8643515358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wifere! - 1 T wiferet - 11 T 70s foiae 47 ;

wiferet - 1 wiferat - 11

(&= cadm) (TwrE=e)
(a) «BfES @) =g
(b) Flem ot (i) feriio
(c) oEToTart (i) TSfER
(d) FETa (iv) «@fEEa
eSS GRS HFsT A Sere

Options :
86435116089, @)-(1), (b)-(iv), (c)-(iii), (d)-(i)

86435116090, @1, (b)-(iv), (c)-(1), (d)-(iiD)
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86435116091, (@F(1V), (b)-(1), (c)-(i), (d)-(1ii)

86435116092, (@)(1v), (b)-(ii), (c)-(1), (d)-(ii)

Question Number : 49 Question Id : 8643515359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :
86435116093, Glucose

86435116094, Fructose
86435116095, Galactose

86435116096, Sucrose

Question Number : 49 Question Id : 8643515359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OB FEEEF 4 A" @ TACCEETS W 557 SAF T (EFEIZE| A A T

Options :

o
86435116093, &7 °
86435116094, 2 &
86435116095, “ e &

86435116096, 2% &

Question Number : 50 Question Id : 8643515360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
55/90
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86435116097, V2

86435116098. e

86435116099, NO

N,O
86435116100. -

Question Number : 50 Question Id : 8643515360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATEHT (RS FFEs, 1-FFIRAaNE WF gaglee (TT F 7927 F91 27 Bresed awd ;

Options :

86435116097, V2

86435116098. e

86435116099, NO

N,
86435116100. -~

Chemistry Section B
Section Id : 864351358
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351358
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643515361 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C f}mplr_-tr_- combustion of 3 g of ethane gives x X 102 molecules of water. The value of x is

. (Round off to the Nearest Integer).
[Use : N, =6.023 x 10%%; Atomic masses inu : C:12.0; 0 :16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515361 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g 20U Ao wel e x x 1072 #19E W1 x q T4 | (Frabow e ALAmTe)

| 7929 =91 : Nﬂzﬁ.[]l'ixlf}la; AafdF Sq u '@ : C: 120;:0:160;H:10]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643515362 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AXis . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515362 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AX @1 FaeraTefEE TEAE WY 3T A U X TH A e Tew @ (TE | waEs
A AT SHAS (S I, AX T TH T TA 251 AX T I THAIFE 7eAT _il
(FrabeT T4 7T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643515363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CEH{.J — C2H4 | H2
[Given : Bond enthalpies in k] mol 1.C—-C:347. C=C:611:
C—H:414, H-H : 436]

the reaction enthalpy A H=__ k] mol 1. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CH; - CH,+H,
fafam =™ A H= k] mol~ 1| (FREG@T =g 752TTe)

[ =g R @™ kK mol 1@ : C—-C: 347, C=C: 611;
C—H :414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643515364 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073, (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol .

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515364 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a1 7 «fes HA 9 2 9% & Zmes 4 3.885°C | «iewth fRamser s x 103
(Frebew =g A2 Te)

[ =g : #f1i ¥EE wEe #aF =1.85 K kg mol !
A oree Z2TeF [ =0°C)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acelic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid) =4.74]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@bl pH 5.74 3 A4 B2 ANAE A0A, rebF afeve g e aferss qne F4 2) I areihe e
TFES S 1.0 M , 2eas «fghita arme e T3 M (Fhes 520 A2
[ =te : pKa (AT=b® @iRT)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe®* (aq) + 21~ (aq) — 2Fe* (aq) + L,(s)

the magnitude of the standard molar free energy change,

_‘n.r{_;:n =~ k] (Round off to the Nearest Integer).
E'pe2t /pey = — 0440 Vi Epay b o= — 0.036V
E%, o = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643515366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G NG RG]

2Fe3* (aq) + 21~ (aq) — 2Fe2* (aq) +L,(s)

oA TAE TT =@ Aqqsa T+,

-!"TG:N e P i N FHTT TG HE'*’JTE]
B2t /pete) = — 0440 Vi Epaep o= — 0.036V
B’ /51— = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cly(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the following data was obtained

run [NOJ, [CL ], I,
1 0.10 0.10 0.18
2 0.10 0.20 .35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and 1 is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515367 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cl,(g) — 2 NOCI(s)

@3 RIEFH —10°C © S 391 (2 e Tare 7 SeTIE Coma Caifest
ca [NOJ, [Clalo T

1 0.10 0.10 0.18

2 0.10 0.20 0.35

3 0.20 0.20 1.40

[NOJ], &% [Cl,], Z & 41 5o S 1, 2 51 S48+ [ (39| A@msmp@Eags_ |
(FrbeT T4 AU

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

&ioa K,[Cr(oxalate),] © TH&S 431 0 SH SrAape[ e 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643515369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,0O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T 3-ZRGH HAE (MW =74) T FEaead F€q #1151 7.8 ¢ @& o (CH,0)
(MW =56) Tesi@ F€ata, o *1eFal S 20 64 | (FEbeT T2e HeAs)
[fram =i : AreefEs ©9: C: 120 u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10~ 1, when n= . (Round off to the Nearest Integer).

|Given : Atomic masses : C: 12.0u, H:1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 60 Question Id : 8643515370 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.1 V5 @RFAGTZE 39 e Fere s WE 23 g e FEies o fam 3Tz [fEse

WIS (T AT THG AL nx 107!, @ n=__

(e =re RATS)

[fwa =g : srEefE® ©9: C:12.0 u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351359
5

Online
Mandatory
20

20

80

Yes

1
864351359
Yes

Question Number : 61 Question Id : 8643515371 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x) = Jx and .g{:{') = /1 = x, then what is the common
domain of the following functions : f+g, f—g f/fg. g/f g—f where
. o
(f = 9 = fx) = 8@, (f/g)e) = L2
g(x)
Options :
86435116111, 0 =¥ <1
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86435116112, 0 <x <1

86435116113, 0 =¥ =1

86435116114, V<x =1

Question Number : 61 Question Id : 8643515371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Efc'}r.f{x]l =Jx W.g(x] =1 -x W‘j@' Hﬁmﬁﬁiﬂ*ﬁl 9B f+gf-g f/g8/f.8—fT®

(f * g)x) = f(x) = g@), (f/8)@) = % AR ST R 7

Options :

86435116111, 0 =x <1

86435116112, 0 <x <1

86435116113.

86435116114, V<x =1

Question Number : 62 Question Id : 8643515372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation .a P+az+az+d=0 represents a circle where a, d are real constants,
then which of the following condition is correct ?

Options :

TR (I,
6435116115, (@~ ~ad = 0andae R

;
o Y TR
86435116116, | ¢ —ad >0andae R—{0}

I

86435116117, |@~ —ad =0

P _ 1
86435116118, @=0 a deR
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Question Number : 62 Question Id : 8643515372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AW alz + az + az + d = 0 FAFEHE G5 J&F JIH, TS a, d IB FIF| (S0 TH (I 56

e
Options :

86435116115 el ad = e B
86435116116 af2—ad > 0 W¥F a ¢ R— {0}
a ad =0

86435116117.
86435116118, =Y a,de R

Question Number : 63 Question Id : 8643515373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| I 0
Let A+2B=] & 3| and 2A - B =
5 1 0 1

[P I
| I

If Tr(A) denotes the sum of all

S = L ) |

n

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435116119, 1

-2

86435116120.
86435116121, 3

86435116122, 0

Question Number : 63 Question Id : 8643515373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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¥ ITA A +2B= 3|9 2A - B=

. 4% Tr(A) @ A (TAFHT WHI2CA

o O =
[ I e |

| I
| S I LR |

fagetrilierd cnoreet &, (o0 Tr(A) — Tr(B) S 79 29 ;
Options :
86435116119, 1

86435116120, 2
86435116121, 3

86435116122, 0

Question Number : 64 Question Id : 8643515374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let o, 3, v be the real roots of the equation, r+axr2+bx+c=0, (a, bbce Rand a,b=0). If

the system of equations (in u, v, w) given by au+pv+yw=0; pu+yv+aw=0;
3

e d T
v + ov + B =0 has non-trivial solution, then the value of — is:

Options :

86435116123, U

86435116124, 1

86435116125, °

86435116126. 2

Question Number : 64 Question Id : 8643515374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4 2A x3+ax2+bx +c=0, (a, b, c € R & a, b = 0) Ao 01 T%a T o, B, v | ;W
o+ pPo+vyw=0; putvyo +ow=0; yu+oaw + pw=>0 FAFA ANALAAA (1, v, w) S ST AL

2
ﬂ*ﬁ,m@%awﬁ;

Options :
86435116123. 0

86435116124, 1

86435116125, °

86435116126. 2

Question Number : 65 Question Id : 8643515375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :
86435116127.

86435116128, 26664

86435116129, 122234

86435116130, 122664

Question Number : 65 Question Id : 8643515375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1,2, 2 < 3 T sifde Ff4q #[@1 4 WP foxq Heng raerre 27
Options :

86435116127, 22264

86435116128, 26664
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86435116129, 1222°

86435116130, 122664

Question Number : 66 Question Id : 8643515376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x?)0=a +ax+ax?+...+a,x0. Then, a;+az+a.+.... ba,- is equal to:
Options :
jl‘){ji{] | 'j]_]
86435116131. — *© =
X ~20 4 o
86435116132, 2 (2~ +21)
219{22{] 21]
86435116133.
23]{22{] 21]
86435116134,

Question Number : 66 Question Id : 8643515376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M 2 (1+x 21“2]3{]:1{] Fagx azxz Eduid a4,[]f1{] | TO@ a,+az+tas+... bag, AW T9
Options :
jm{jz{] | 'j]_]
86435116131. = *~ &
X} 20 4 o
86435116132, 2 (27 +21)
21‘3{22{] 21]
86435116133.
23]{22{] 21]
86435116134,

Question Number : 67 Question Id : 8643515377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of 3 4 1 is c-qual to:
4 4
1
3 4 ]
4 4
34+ ... "

Options :
86435116135, 1= T V3
86435116136, 2 T V3

349,05

86435116137. -

s6435116138. 4+ 3

Question Number : 67 Question Id : 8643515377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4 A ATT 29 :

Options :

86435116135.

2
86435116136.
86435116137. °

86435116138, 4+ V3

Question Number : 68 Question Id : 8643515378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e I % sl I —,,lis equal to :
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Options :
‘25

01

—_

86435116139.

101
86435116140, 108

i
86435116141, 200
101

86435116142, 104

Question Number : 68 Question Id : 8643515378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

86435116139, 101

101
86435116140, *08

o
86435116141, 200
101

86435116142, 104

Question Number : 69 Question Id : 8643515379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, B are natural numbers such that 100%—1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through (o, 3) and origin is :
Options :
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86435116143, 210

86435116144, 230
86435116145, 340

86435116146, 220

Question Number : 69 Question Id : 8643515379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T o SF B FrEEF AT ATS 1002 1998 = (100)(100) + (99)(101) + (98)(102) + .....+ (1)(199),
7, (0% Y O (o, ) N Q@ @4 HFre 37

Options :

86435116143, 910

86435116144, 230
86435116145, 340

86435116146, 290

Question Number : 70 Question Id : 8643515380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[ 1
s lx] =1
If f(x)=4I% is differentiable at every point of the domain, then the values of

)
o + by |x)=1

a and b are respectively :
Options :

=
2

£
2
86435116147,

[ ]

¥

86435116148, 2
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5 3
86435116149, 2 2
1 3
86435116150, 2 2

Question Number : 70 Question Id : 8643515380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| l . e
— = | %] =
x

1
W f(x) = { T SCwad AfSrs! fAve Sfaten oTF SEaaa14 o0 (30 a WE

b IW 29 & :

Options :

3 &

5 3
86435116147.

i g

86435116148, 2 2

5 3
86435116149, 2 2

3 3
86435116150, 2 2

Question Number : 71 Question Id : 8643515381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec Ix

The real valued function f(x) = ﬁ where [x] denotes the greatest integer less than or
x—|x

equal to x, is defined for all x belonging to :

Options :

26435116151 all reals except integers

73/90



3/18/2021

26435116152 all reals except the interval [ -1, 1]

86435116153. all non-integers except the interval | —1, 1]

26435116154, 1 Integers except 0, —1,1

Question Number : 71 Question Id : 8643515381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 |
x q A A A f(x) = %WHEM, TS 2] G x T T A x T S5 W e
\.')L' X
e :
Options :
SGT ANZL TR T
86435116151.
[~1, 1] STEa#4 A2 FPCe I8
86435116152.
86435116153, L L 1] STETET =L FRCAT G 712
86435116154, O 1, 1 T TM2EI A =S

Question Number : 72 Question Id : 8643515382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ lim sin 1 x .tan_l:a.
x— .-%Ij

is equal to L, then the value of (6L + 1) is :

Options :

o =

86435116155.

.

86435116156.

2

86435116157.
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2
5
86435116158. ~

Question Number : 72 Question Id : 8643515382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . =1 -]
= 1 5 L Lz [
Eﬁ{ﬂﬁm %ﬁ;m 13?3L@1ﬁ@u1|uawﬁ§m
’ 3x

Options :

o | =

86435116155.

86435116156 ©

-2

86435116157.

P | =

86435116158.

Question Number : 73 Question Id : 8643515383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I{Ex 'l]cosﬂ,.."{Ex 'ljzl

f

5
dr is equal to :
*..':13:2 dx + 6

The intr_-gral

(where ¢ is a constant of integration)

Options :

i
;sin\/{l&: I 'ljz D + ¢
86435116159. <

lz;l'.t'n '[{21' 'lj2 28 i o

86435116160, 2

1 .'
;cos«q‘(ix 'l]2 Fo+
86435116161. <
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Question Number : 73 Question Id : 8643515383 Question Type : MCQ Option Shuffling : Yes Is

1
—costf{Ex I 1]E 5 +cC
86435116162, 2

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1]2

J~( 2x — 1)cos M.'I{Ex

dx + 6

n/ =1x2

(TS ¢ TeFe FaF)

Options :

86435116159, 2
3

86435116160.

86435116161, 2

86435116162, 2

Question Number : 74 Question Id : 8643515384 Question Type : MCQ Option Shuffling : Yes Is

lsin\/{h I 1]2 D + ¢

—sﬁw'[{zx 'ljz 28 ol

lcr}ﬁ«,jr(zx 'l]2 F5 +c

1
—costf(Ex I 1]E F5 +¢

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The differential equation satisfied by the system of parabolas yzzila{x +a) is:

Options :

86435116163.

86435116164. \dx )

(%)

86435116165.

i 7
dy |~
— |

y[dx]

d
j.I_y i
Jyml s

dy )
2-[_ =0
ax) Y

dy
() 1y =0
&) *Y

+5
dx ST A 27 -
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d
86435116166.

Question Number : 74 Question Id : 8643515384 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y3=—la[;r +a) Iﬂ'ﬁ'c{‘@ﬂ'gﬁﬁ'w %-Iﬁ CEEN AT AAFA0! 39

Options :
2
F{i—ﬂ sz(% y=0
86435116163, . dx/ | dx )
() + 2o E) =0
86435116164, ¥/ \dx
dy 2 d
(L) -2 L =0
86435116165. J dx )
o :
y[_ﬂ 22( W)~y =0
86435116166, 9%/ \dx )

Question Number : 75 Question Id : 8643515385 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :

x2+y?—10x— 10y + 41=0
leyz 22x - 10y +137=0

Options :

86435116167.

86435116168.

86435116169.

86435116170.

circles have two meeting points

circles have no meeting point

circles have only one meeting point

circles have same centre

77/90



3/18/2021

Question Number : 75 Question Id : 8643515385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
forg owe

x2+y?—10x— 10y +41=0
x2+y2—22x—10y+137=0

TS GBI 4TS & STGoT ATl 31
Options :

86435116167, °° TG 51 TRKTY SICE

JT O @A CEHEAT 13 |

86435116168.

IS O G5 TRAY SCR |

86435116169.

86435116170, I8 BW T FE SR

Question Number : 76 Question Id : 8643515386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the four circles M, N, O and P, following four equations are given :

Circle M : x*+ y2=1

Circle N : x* 1 yz 2x=0

Circle O : 22 +y2—-2x—2y+1=0

Circle P : x% +y%—2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle PP and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435116171, Rectangle

86435116172, Khombus

86435116173, ~duare
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26435116174, L arallelogram

Question Number : 76 Question Id : 8643515386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M, N, O =< P 9@ BIf461 A1Ca S1iaGT Aareae fram =g -

M3 : 22 +2=1
N 35 : 22 +y?—2x=0
O 8 : x2+y2—2x—2y+1=0

Pﬁ:lzlyz 2y=0

T M 89 (%9 70 N J&9 (% A 341 24, N 89 (%9 O0® O 89 (F% FLFH 391 27, O
JEq (%9 OO P &9 (F% AL F41 30 F P §E9 (F%9 G70e M 89 (% AAH 41 37 (90F
9% (@AATA AELAT T FAT ;

Options :

86435116171, 1721

86435116172, TA&d

86435116173, 3919

AR

86435116174.

Question Number : 77 Question Id : 8643515387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of integral values of m so that the abscissa of point of intersection of lines

3x+4y=9 and y=mx +1 is also an integer, is :
Options :

86435116175, Y

86435116176, 1

[

86435116177.
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86435116178, 2

Question Number : 77 Question Id : 8643515387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m q TG AT AU TF ACS 3x + 4y =9 F y=mx + | (TICEH (AT TECOT €57 TG 72N

2%
Options :

86435116175.

86435116176.

I

86435116177.

86435116178, 2

Question Number : 78 Question Id : 8643515388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan" ! (y2) with the straight line, ¥ + 1= 372 x is:
Options :

|._ d —
86435116179, 4V2 x +5y — (15+442) =0

42 x -5y - (5+442) =0

86435116180

86435116181, OV2 X +4y — (154 42) =0
_. | .

86435116182. 42 x +5y - 442 =0

Question Number : 78 Question Id : 8643515388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80/90



3/18/2021

(1, 3) R @ =% y + 1=3V2 x @I PS tan” ! (V2) T 41 T BT @A AR

39 :

Options :

26435116179 22 x +5y — (15+442) =0
se3si161g0, 22X — 5y — (5+442) =0
c6a35116181. OV2 X +4y — (15 +442) =0

rJ]
I
=

86435116182, 4V2 X 5y — 4y

Question Number : 79 Question Id : 8643515389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

2 . 2 . 2
1+sin“x sin“x sin“x
2 2 2
cos“xy 1+ cos“x cos“x| =0, (0<x <), are :

4 5in2xy 4sin2y 1 + 4 sin2?y

Options :

86435116183, ©

86435116184 |

86435116185.

86435116186.

)
-2

Question Number : 79 Question Id : 8643515389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1 4 sinzx sin 2::: sin zx

cos2x 1 + cos2x cos2 x| = 0,(0<x <) HANFINEE FIHAE 59 -
4 5in2x 4sin2y 1 + 4 sin2y

Options :

86435116183, ©
86435116184,

86435116185.

86435116186.

Question Number : 80 Question Id : 8643515390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
* ﬁ { *
with respect to new system, a has components p+1 and /10, then a value of p is

equal to :
Options :
86435116187, 1

86435116188, 1

4
86435116189, 5

5
86435116190, *
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Question Number : 80 Question Id : 8643515390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SR FCHEA #TE! ACATE 51 TSFT o A 3p T 1 31 TeNes! | oA ACACE T8 F0@ QTS

a?w@@ﬁwﬁ’mﬁ@ﬁf@tﬁ'wgawwpl 1 1% 10 =, (903 p T

39
Options :
86435116187. 1

86435116188, 1

4

86435116189,
5
86435116190. *
Mathematics Section B

Section Id : 864351360
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351360
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515391 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z;, z, be the roots of the equation 22 +az+12=0 and Z1, 2> form an equilateral triangle
with origin. Then, the value of |a| is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643515391 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4q1 TA 2 +az +12=0 TNFANBR 2z, TF 2, T F z,, 2, & TATE GG b TR_E fGge 516
A (O |a|TIMIZTT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x%) +g(4 —x)=4x> and g(4 - x) + g(x) =0, then

4

the value of _l‘._.lr{xzjdx is
—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4q1 T f(x) T g(x) T FoAT BT f(x2) +g(4— x) =423 = g(4 —x) + g(x) =0, F P& =4, =%

4
[ flx?)dx 7 771 77 _

-4
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 83 Question Id : 8643515393 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. S L :
: 5x +7x :
If f(x)= _[ s — dx, (x = 0), f(0)=0and f(1)= i then the value of K is
(2 +1+2x7)° K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515393 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5x8 + 7x®

T f(x) = I > dx, (x = 0),f(0)=0F f(1) = %Jmﬁfkaﬂﬁ_'a

7)

(x2 +1+ 2¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515394 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A square ABCD has all its vertices on the curve x*y> =1. The midpoints of its sides also lie on

the same curve. Then, the square of area of ABCD is ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 84 Question Id : 8643515394 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABCD 399 FECATAT AHag 122 = | I89 5[ TI(E| TIE T2LAE WIEGACA GTF T84 S*AT
qITF | (S8 ABCD Isfa Ffr g |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515395 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax+ by +cz +d =0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
the right angles. If a, b, ¢, d are integers, then the minimum value of {a3 Fb2+ 2 dz] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515395 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

49l 2 ax+ by+cz+d=0 eI (4, —3, 1) W<€ (2, 3, —5) f?F‘j FETAS (@Y GTF AT
TESS FCE1 AW a, b, c, d TS W, (O0F (a?+ b2+ 2+ ) I ITZTT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 86 Question Id : 8643515396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 22— 3 =0 which are at unit distance
from the point (1, 2, 3) is ax + by + cz+d =0. If (b —d)=K(c— a), then the positive value of K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x —2y+ 2z~ 3= FISH FARATA L2 F (1, 2, 3) qq *[1 9FF [T AT FAG FAAPFICO 2 A
ax+by+cz+d=01 3% (b—d)=K(c—a), (XBKI IS I 57 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Q4 AWEET 25 T WrESd STE 999 40 T291 OT FFELS 60 929 TS SEOE 59 FE OIE (SIS
FRS T e ArRE ghe W 28| A @24 AW Ree Feed a9 S1E 999 39 984 2, (90%
ToT S MY FEeEE I e | (J%99 Bhee)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AfSE 1 T °[/T 1000 (& =Ie ALAMEE S 49 =0 (ofemr 3 =eace’ &g o[ Jednq 7ednm 39

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515399 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The missing value in the fDIIf}wing figurr_- is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515399 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foarsre s czEr TWeer 29
/«f ™~
T \2 3 N
. 1 5 9 \ 5
[ ' | |
| I: .I |
\ 24| a6 / |
1 \¥ |3/ 4 )
8 ?\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515400 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotr| = cotx + —— in the interval [0, 27] is
sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515400 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cotx | = cotx 4 L AAFIER [0, 27| TGARTS FAETE LA 29
SNy
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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